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every 100 rupees, then itis called
[. INTRODUCTION

Interest is the amount of money
which is paid for the use of

rate percent per annum. Rate is
denoted by R but rate percent per

annum is donated by el

other’'s money. Suppose A 100
borrows some money from B for
a certain rate period at certain 5. Slmple Interest: If the interest on
rate then A will pay some a certain money borrowed for a
additional money along with the certain period is reckoned
money borrowed, which is called uniformly, then it is called Simple
interest. Interest. It is denoted by S.I.

1. Principal: The actually ‘money 6. Time: The duration for which the
borrowed by a borrower from a money is borrowed is called Time
lender is known as the principal and it is denoted by T.

or sum. It is denoted by P.
IL. SOME USEFUL RELATIONS

2. Interest: The additional money

paid by the borrower to the 1.8 = 2T
: . 100
lender for the use of his money is
called interest. It is denoted by L. 2 A=P4S]
3. Amount: The total sum of
S.1.X100
principal and interest together is 3. R=———
called an Amount. It is denoted
by A. A T= S.1.X100 !
PXR

4. Rate Percent Per Annum: If

interest is payable yearly for dige |
age
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£ p = SIx100
RXT

6. P=A-S.L

7.5 =A-P

8. A=P(1+-—){A=P+SlL

=P+ =P(1+%)

9. A=SlL (1 n 1_02) p _ SIX100
RT RT

100X A
10. P=———
100XRT

[II. SHORT CUT METHODS TO SOLVE
SPECIAL TYPES OF PROBLEMS

Case I : If rate and time are equal
R=T
S.I =252

100

S.1.x100
P

Q. Simple Interest on a certain sum is
1/16 of the sum. Find the time in years, if
time is numerically equal to the rate

percent.

Copyright © All Rights Reserved | https://www.spardha.guru

20D DR B33 HedI JTY wBady
VORI 1/16 esA3. AN O N)|
Q09 B, B3N BT TeSWF, JDJNGT
SREMPO FDoDSTRY, B0DBEMND?

10 10
a) T b) ?
10 10

Case II : When the principal becomes n
times in T years at simple interest, then

rate percent is given by
L i,

100

Q. At what rate percent per annum will a
sum of money double in 8 years?

8 IRV IeT N3P T3 IeF,
Fedmy oR) BOBO B verteRIH?

a) 20% b) 30%
c) 10% d) 40%

Case IV. If a principal amount to A; at
R,% per annum and A, at R,% per
annum at simple interest, then time is

given by
_ (A;—A;)x100
 AiRp—AzR,

T

Q. At what time, a sum amounts to Rs.
1,120 at 4% per annum and to Rs. 1,200
at 5% per annum simple interest?
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WS FPAPTE, 20D ST Te. 1,120 B0RDAYE t STV 2398 2T P oY ¥
3@, 4% DR Te. 1,200 IFFF, 5% 0T WeddTon

ROY w&? a) Rs.85 b) Rs. 75
a) 20 years b) 10 years R R d)Rs. 80
c) 15 years d) 25 years

SOME IMPORTANT POINTS

1. Interest is said to be simple if it is
calculated on the original principal

throughout the loan period.
Number of days

Case V. If a principal amount to A; at R, %
per annum in T; years and A, at R,% per
annum in T, years at simple interest is

given by 2. Number of years = e
P= % 3. In counting the number of days
P = A,Ty—A;Ty between two given dates for
L calculating interest, the first day is not
included.

Q. A certain sum of money lent out at S.1I.
amount to Rs. 690 in 3 years and Rs: 750
in 5 years. Find the sum lent.

AT’ TewweN BT ADFE, S Te.
3 IBNRYY 690 DA Te. 5 IRFNYD

750. 70T FRTTY, F0DBAAE? BASIC EXAMPLES

a) Rs. 600 b) Rs. 556 1.Find the simple interest on Rs 68000 at
c) Rs. 660 d) Rs. 663 16% % per annum for 9 month

2
Case VI. The annual payment of debt of 9 3onvaTr Zoded 165 % GoZ de

Rs. P due in t years in equal instalments 68000 Deed TBY R DS
at the rate of interest R% per annum ° N
a) 8000 b) 8500

when equal instalment in denoted by X’ 9000 d) 8300
ToVT  DoAFE  Tod TR. TV ) )

B0V IBFS, R% 28 BOTY) R5ow

4. In calculating the number of days, we
do not count the day on which the
money is deposited but the date of
withdrawal is counted.

Hage |

Copyright © All Rights Reserved | https://www.spardha.guru

www.spardha.guru info@spardha.guru
No 8, 24th Block Manasi Nagar Beside of Bliss
0 serviced Apartment, Mysuru, Karnataka 570029 90711 54445, 90711 64446, 90711 74447




10 Years of Excellence

Spardhaguru India Private Limited

Sajamm)d)

G spardhaguru2022 6 Spardhaguru Current affairs

ﬁ SpardhaGuru

@Spardha.guru M  www.spardha.guru

X' Spardhagurul

Ve dlC

Mathematics

2. Find the simple interest on Rs 3000 at
6& % per annum for the period from 4t

February 2005 to 18t April 2005
43¢ P30 2005 dod 183 HD e 2005

OSBAR TBOR TodeS 6% % G0 B 3000

eheed FOY R BoRHLBAS?
a) 27.5 b) 35.7
¢) 37.5 d) 32.5

3. A simple interest on Rs 1820 from
March 9t, 2003, to May 21st 2003 at 7% %

eefe 9, 2003 dod e 21, 2003 BITri
75 % S0rf G 1820 ahees FS¥ Gy

B30 HBAO?

a) 27.3
c) 28.7

b) 33.7
d) 23.7

4. At the rate of 8> % PCPA Simple

interest a sum of Rs 4800 will have how
much interest in 2 years 3 months?

8- % PCPA 3039 Ge 4800 O &e3a) 2

S@e 3 Sonwnvd omy, wROHRY
B oBDLIE?

a) 918 b) 618

c) 718 d) 218

‘6. A sum of Rs 1550 is lent out into two

Copyright © All Rights Reserved | https://www.spardha.guru

5. A person borrowed some money at the
rate of 6% per annum for the 2years. At
the rate of 9% per annum for the rate of
3 years and at the rate of 14% per annum
for the period behind 5 years. If he pays a
total of Rs 11400 at the end of 9 years.
How much money did he borrowed?

W) Bdadw 2 IRV DodeB 6%
3080 Jo BOTI, TS ITBTD. 3
SBeNY TI, T3 9% BTBY D) 5
SBeNY LoOT TP Todes 14% BTTO.
DoB3ATT 9 IAENY oS3, e, 11400

Be. OB o), BEITD, TovDN SBBD?

a) 12000 = b) 14000
¢) 15000 d) 16000

parts one at 8% and another at 6% if the
total annual income is Rs 106. Find the
money lent at each rate?

e DoAFS Bwood de 106 NPT Te
1550 a'ifagdwg( QTR yonnwaN 20D 8%
DB 2R 0T 6% 3, JeBUIHIT. S
B0 Tow BT BEvSD), BoWDdBAO?

a) 650,900 b) 550 1000
¢) 750,800 d) 850, 700
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7. The interest earned on Rs 15000 in 3 a) 10000 b) 15000
years at simple interest is 5400. Find the c) 12000 d) 14000
rate percent per annum?
JTY 2BabY 3 SReRYO de 15000 AT 10) A person borrows Rs 5000 for 2
" 5 years at 4 pcpa Simple Interest
w8 5400. Soes ddd‘d& Bor &R D! immediately he lends to another person
a) 10% b) 12% at 6i % per annum for 2 years. Find his
c) 15% d) 14% gain in the transaction per year?
9 9 9 -
8) Mr. Sharma takes a loan of Rs 25000 v a$6§o:bo 4 onco, ForEeE S
and repays an amount of Rs 31000 at the IRNYITN Te 5000 OTIen IBT 369
end of 2 years. What is the rate of Simple S e D8 g o e
Interest at which he repays the loan? = O G WG - 61 7 8L
de.3or wBD T 25000 TOUBR SRENYSOT ToUSJY AeRTN. IR,
BrHBRW,TT D) 2 SAENY BPI DY BoDLTY 0TI URITI,  WBADIY
e 31000 SeIBIJ ~ DDTI3 30D HBANO?
FeRDTT. VBD TOUTRY DD TBS a) 225 b) 112.5
c) 128 d) 122.5
SRS ITY & BT oR)?
a) 14% b) 12% 11) in how many years Rs 150 will
c) 10% d) 21% produce the some interest at 8% as Rs
800 produced in 3 years at 4%%?
9) Anil invested an amount for 3 years at 1
a simple interest rate of 9 PCPA, he got an 43% Gowg 3 TEErivg 800 de. rivb 8%
amount of Rs 19050 at the end of 3 years. daic)d u@aoi)ﬁ& aa’% IA3NYO de 150
What principle amount did he invest?
S ?
edeF 9 PCPA ob R0¥ w@@dm 3 OO
a) 10 b) 12
SRNYITT SeSSI TRBE SBTD, )9 d) 14
ID 3 IAENY BRI oD 19050 Tp. T
oIroa BB, BpIBT, BRBB SBTTH?
Hage |
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12) What Should be the simple interest
obtained on an amount of Rs 5760 at the
rate of 6pcpa after 3 years?

3 J@FNY S03T 6pcpa BB Te 5760
3e208 Ded JET IJTY wE  oR)
esN\Telem?

a) 1037.8 b) 1036.8

) 1036.7 d) 1035.8

13) Mrs Suchitra deposits an amount of
Rs 24000 to obtain a simple interest at
the rate of 14pcpa for 8 years. What total
amount will Mrs Suchitra will get at the
end of 8 years?

pedhd aizy 8 IANYIT 14pcpa
B0 Jo¥ 2B, SWabew Te 24000
3B, Beded oD@V, 8 IRENY
e300 PeDd DWTY TD AR,

SP3BT BRANTIT?
a) 26880 b) 50880
c) 28880 d) 50660

14) Mrs Anusha deposits an amount of Rs
35000 to obtain a simple interest at the
rate of 15% pcpa for 4 years. What total
amount will she got at the end of 4 years

3eDd @ 4 IRFNYIC 15% pcpa
B060 JIoYTB wBADLI SIWdabew de

35000 BeIIJ, Tewed owdT. 4
SRENY BRI TV o), SRSIY,

BB TIY?
a) 21000  b) 56000
) 28000  d) 42000

15) An amount of 45000 become 77400
on simple interest in 8 years. What is the
rate of interest pcpa?

45000 Sp28y) 8 IRFN¥Y JITY wBab

e 77400 1133, A 8 T3 a)?

a) 4% b) 8%
c) 9% d) 12%

16. Out of a certain sum, 1/3r4 is invested
at 3%, 1/6™ at 6% and the rest at 8%. If
the simple interest for 2 years from all
these investments amounts to Rs. 600,
the original sum is

ADEF BBBO, 1/3 woridy 3%, 1/6 Je
NSy 6% DI) VTP 8% NO BAAS
SdeRh3d. & ovy BeBBNT 2
SRenv IoY 8 Ze3 de. 600, Jev

3R3 BoRHBANO?
a) Rs. 3500 b) Rs. 4000
¢) Rs. 4500 d) Rs. 5000
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17. The amounts of a certain sum of
money with simple interest at a certain
rate of interest are Rs. 2660 in 3 years
and Rs. 3100 in 5 years. The sum of
money is

QBT wE TOBO FoY wBateodr IBF
SR3T SRS To. 3 TRENVO 2660 DR
de. 5 IIFrvd 3100. Bod [eI

B0 &BAO?

a) Rs.1500
c) Rs.2000

b) Rs.1800
d) Rs.2100

18. The amounts of a certain sum of
money with simple jinterest at a certain
rate of interest are Rs. 2660 in 3 years
and Rs. 3100 in 5 years. The rate of
interest is

QBT w8 BT Fo¥ wBaleodr ABFT
HR3T SR To. 3 SRENVO 2660 DR

Te. 5 SRNY 3100. 28 B3F)?
a) 11% p.a. b) 12% p.a.
c) 12.5% p.a. d) 15% p.a.

19. The annual ‘instalment that will
discharge a debt of Rs. 4,200 due in 5
years at 10% simple interest is

ToOTR, ABDNTE oS Hodes oD dn.
10% RBY 28 5 AP 4,200 2393

Qa?

Copyright © All Rights Reserved | https://www.spardha.guru

a) Rs. 500 a year
c) Rs. 800 a year

b) Rs. 700 a year
d) Rs. 900 a year

20. On a certain sum, the simple interest
3
at the end 6% years becomes s of the sum.

The rate percent is

wod A0FE HeITY, 6, SNV
8RO BOY R SHTT 3/8 BrHIT.
3 Be?

a) 7%
c) 5%

b) 6%
d) 5-%

21. The rate of which a sum becomes four
times of itself in 15 years at SiI. will be

OTDIY 15 IVENYD SpSF) Doew, Be),
S TOP) ?

a) 15%
) 20%

b) 175 %
d) 25%

22. The rate of simple interest on a sum
of money is 6% p.a. for first 3 years, 8%
p.a. for the next five years and 10% p.a.
for the period beyond 8 years. If the
simple interest accrued by the sum for a
period for 10 years is Rs. 1560. The sum
is

B3 B33 ed IVY 08 BTFY) 6% p.a.
ST 3 SRRV, 8% p.a. SWoBI 0T
SRENYIOT DD 10% p.a. 8 IAeNY,
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So3dd o3IPR. 10 IINY o3I
SpBDoT Joddmer JITY wBolw Te.

1560. 63 33 30THBAO?

a) Rs. 1500 b) Rs. 2000
¢) Rs. 3000 d) Rs. 5000

23. The annual payment of Rs. 80 in 5
years at 5% p.a. simple interest will
discharge a debt of

DOAEE T3S TR. 5% P A afeg 5 aiasmvéeg

80 JITY B FOBRY, VRNE SRDST
a) Rs. 400 b) Rs. 440
c) Rs. 420 D) Rs. 450

24. How long will it take a sum of money
invested at 5% p.a. S.I. to increase its
value by 40%?

5% p.a 3O BB BT BT S3 OR),
JSad BrDBRPWIT. ©38 IPOBD
40% B3 Ten OFTF.2.

a) 5 years
c) 7 years

b) 6 years
d) 8 year

25. If we divide Rs. 10008 into two parts
such that the simple interest on one at
10% for 4 years may be double to that on

the other at 12% for 2% years. Then find

the sum lent at 12% rate is

Mo Twe. 10000 eaaig( AVR YonnwaN
AonBRIINS ©oTY 4 SREAYISH 10%
SO om0 O ROV Qo
2; SReNVaSr 12% 11 Hronmnhds.

So83 12% TOBO T ai/agdxig(
FoR&BAO

a) Rs. 6000 b) Rs. 4000

¢) Rs. 5000 d) Rs. 4400

26. X, y, z are three sums of money such
asy is the simple interest on x and z is the
simple interest on y for the same time
and rate. The relation between x, y and z
IS

X Y, Z Q0D D (3T 36,
SVIIBTHN y X eI ITY B D) z

ede Jhab DB) BT, y HedT JITY 8.

X,y DR z SIS Jowod
a)xyz=1 b) x2=yz
C) y2 =Xz d) z2 = xy

27. Rs. 793 is divided into three parts
such that their amounts after2, 3 and 4
years may be equal, the rate of interest
being 5%. Find the ratio between these
parts.

an. 793 esﬁg( D YnnweN
QonBJUNGE ©odT 2, 3 DD 4 IRV

H

age |
e}
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S0308 SeBnwh JreFTNTBD), w8 a) Rs. 1250 b) Rs. 1400
c) Rs. 1200 d) Rs. 1500
30 5% sSNDH3B. 8 Yonnd SRS
@Rbmﬁdaig( 2oR)HBNO? 30. Rs. 2000 amounts to Rs. 2600 in 5
T e years at simple interest. If the interest
a) 110" 115 ' 120 )R rate is increased by 3%, it would amount
¢) 110: 115 : 120 d) == to
de. 2000 Fp2 de. IVY wBabO 5
28. Divide Rs. 2379 into three parts so 3IReR¥O 2600. m&adddd& 3% B3 AT,
that their amounts after 2, 3 and 4 years °
respectively may be equal, the rate of 00T BRTTY, 50D HBMO?
interest being 5% per annum. a) Rs. 2900 b) Rs. 3200
de. 2379 @Rig( Swd  PonnwaN ) Rs. 3600 d) Rs. 3800
sall” Qi esdoaod o3 w@4dafﬁ@ 31) A lent Rs.5000 to B for 2 years and
S030 3T Ie3BNW IVITNTRDD, Rs.3000 to C for 4 years on simple.interest
280h BOP) ToAES 5% SADIT. at the same rate of interest and received
- £ Rs.2200 in all from both as interest. The
a) Rs. 828, Rs. 792, Rs. 759 rate of interest per annum is
b) R-NGOOPRSGFO, Rs. 729 20@ T0.5000 B 1 2 BBFAVEIR =
c) Rs. 816, Rs. 799, Rs. 784 =
d) Rs. 688, Rs. 882, Rs. 809 T.3000 C rf 4 IReRYIT e 2B8B3TO
, J0Y wETOTO DD oVBOoBewe
29. A sum was put at a certain rate of e © -
interest for 3 years. Had it been put at 2% BN Tr.2200 IBTD. Tode3 w8
higher rate, it Would have fetched Rs.72 3033 B0 bAMLS?
more. The sum is "
20T dfagdd‘)* 3 3IANYIVR DR "
2RTOBO 2OJPdBD. Fe20R), BPS A% b)7% ) 10%d) 7%
B0BY B3PS Te.720RD), ed) AN EJ.
mgdd& B0 HBANO?
Hage |
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32) Rs.500 was invested at 12% per annum
simple interest and a certain sum of money
invested at 10% per annum simple interest.
If the sum of the interest on both the sum
after 4 years is Rs.480, the latter sum of
money is :

Tp.500 &, oA JTY W& 12% )
Dodfd IJTY wBR 10% TR, A0FG
ST, BRBE SeBUddD. 4 BRENY
S0380 odrde Se3BT ed wBab SeSIY

Te.480 ©NZT, Tood dfaééaig(
B0 dABALO

a) Rs.750 b) Rs.450

c) Rs.550 d) Rs.600

33) A certain sum of money amounts to

1
Rs.756 in 2 years and to Rs.873 in 3 5 years

at a certain rate of simple interest. The rate
of interest per annum is

WO ADFF S3BW BOY 2 IRENYD

TR.756 R 3 % 3ReNYO 5p.873 11 2,0
V0SB BB ITY wBNDBT. TodeS

(Al#) ddddz( B0 RO
a) 11% b) 10%
c) 13% d) 12%

Copyright © All Rights Reserved | https://www.spardha.guru

34) A man had Rs.16, 000, part of which he
lent at 4% and the rest at 5% per annum
simple interest. If the total interest
received was Rs.700 in one year, the
money lent at 4% per annum was

2) dzséo:b WY Tr.16,000 ¥, ©TTY
203 a,nﬁdai& T 4% D) VLT 5%
Dodf8 IJTY BN Tow BT, 200
ddsdéﬂ BBT we), W TR.700 sNTT,

DA 4% TOT BEI?

a) Rs.8, 000 b) Rs.12, 000
c) Rs.6, 000 d) Rs.10, 000

35) Asum of Rs.1600 gives asimpleinterest
of Rs.252 in 2 years and 3 months. The rate
of interest per annum is:

0e.1600 A3 2 IRF DD 3 Sonwd
0.252 G JITY BDRY, AeBDBT. Sodes
28 B3 &eNa:

a) 8%
c) 6%

1
b) 5= %

2
d) 7%

36) A man took a loan from a bank at the
rate of 12% per annum at simple interest.
After 3 years he had to pay Rs.5, 400 as
interest only for the period. The principal
amount borrowed by him was :

H
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W) B3 DA 12% BB JIT¥ wBabd
29,05° V08 TVBR, BBBD. 3 JAENY
S0380 3D IR e, wBadreN de.5,
400 Do33TIeSND). VT ITBT )

3
TVT BRI BothHBAO?

a) Rs.10, 000 b) Rs.2, 000
c) Rs.15, 000 d) Rs.20, 000

Increase / Decrease in | R

1) A sum was lent at simple interest at a
certain rate for 2 years. Had.it been lent at
3% higher rate; it would have fetched
Rs.300 more. The original sum of maoney
was:

ol BRSBIJ 2 IRNY Fow AVFF,
3030 ITY wBDO Tew Jederodd.
Ze.30R), BPYI TOBY Tew AedZT
Gr.300 ®B2d) ANDER). BHT L T3

dfaééaiz( BoR&AANO
a) Rs.6000 b) Rs.5000
c) Rs.4000 d) Rs.7000

2) A sum of money was invested at a
certain rate of simple interest for 2 years .
Had it been invested at 1% higher rate, it
would have fetched Rs.24 more interest.
The sum of money is :

Copyright © All Rights Reserved | https://www.spardha.guru

2 SReNY Bov IOV wRAH ADFF TITY
BodR) BeBE IBONT. 1% TER
$030 ®el8 IBYS Tr.24 Tud) w8
A, BRBTRY, BoTBHBRD?

a) Rs.1050 b) Rs.1200
c) Rs.9600 d) Rs.1000

3) A sum of Rs. 800 becomes Rs. 956 in 3
years at a certain rate of simple interest. If
the rate of interestis increased by 4%, what
amount will the_same sum become in 3
years.?

2017-183¢ me‘)xﬁe‘)ﬁ 2017-183¢ méde‘)ﬁ

Ge. 800 Tp erH3d. J0Y 2B A0
3089 3 IAPY 956. WBBOII, 4%
B30T, wde Sp3F 3 IRFNAYY oR),

srh3ad?
a) RS. 1042 b) Rs. 1025
c) Rs. 1024 d) Rs. 1052

4) A sum of Rs.400 amounts to Rs.480 in 4
years. What will it amount to if the rate of
interest is increased by 2%?

Tp.400 Sp23F) 4 IRFNYY Tr.480 8NT.
wBBTBR, 2% B3 ATT 3T B3 oR)?

a) Rs.560 b) Rs.484
c) None of these d) Rs.512
i
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5) The rate of simple interest per annum of

1
bank being decreased from 5% to 3 5 %, the

annual income of a person from interest
was less by Rs. 105. The sum deposited at
the bank was

233,08 DS FOV WG BOBRY, 5% 80T
1
3 %, % 8, 99R0NG, BT Fdab

DIAFB 3o Te. 105. méoéaieg deJed

AVPIxIa) dfazgaiaig( FoRoBANLO
a) Rs.7, 200 b) Rs.6, 000
c) Rs.7, 000 d) Rs.6, 800

1) The simple interest on a sum of money is

8
- of the sum. If the number of years 'is

numerically half the rate percent per
annum, then the rate percent per annum is
BT 3BT edT ITY wB0dw B3T3 2%
s8NT. SReNY Josfody Foawwa S, BeeN
BFER), TAFS BT FedBomodh 8NGT,
sn 3,8 IAB, BT Te.

a)8 %

b) 5 c)4 d)6

Money multiplies in ‘N’ years

2) A certain sum doubles in 7 years at
simple interest. The same sum under the
same interest rate will become 4 times in
how many years.

20D A0FS ISP 7 SRNYY JTY
wBabY JrverieW)3d. wde wBBTT
ea&od)eg re SR3P) OR), da’asrivéeg 4 T,

SrH3T.
a) 28 b) 14
c) 10 d) 21

3) At what per cent of simple interest will a
sum of money double itself in 15 years?

o), FedTo IVY B e B3 15

SRERVO Do NI ?
2 1

a)6—% b) 6 =%
3 3
1

c) 6% d) 6 5 %

4) A sum of money at a certain rate per
annum of simple interest doubles in the 5
years and at a different rate becomes three
times in 12 years. The lower rate of interest
per annum is

IO wBob Tede3 BB Bead FRBFP) 5
SBERYO HrHerte )3T D) e3ed FBTD
12 3RV e Bed), 8rHB3. TodeS
38 w8 33
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a) 20% b) 15%

2 3
c)16-% d)15—%
3 4

5) The rate of simple interest for which a
sum of money becomes 5 times of itself in
8yearsis:

8 da&t—'r{%’eg BT SRTY) 5 Be), BrHES IOV

28 T:
a) 40% b) 30%
c) 55% d) 50%

1) Ram deposited a certain sum of money
in @ company at 12% per annum simple
interest for 4 years and deposited equal
amount in fixed deposit in a bank for 5
years at 15% per annum simple interest. If
the difference in the interest from two
sources is Rs.1350, then the sum deposited
in each caseis :

T BD 0w ADEF SPSII, 12%
Dodf8 IJTY wBoHY 4 IIenYIOr
Z0BADY) BeSed BB D) ToAeS
15% O, IoVY wBobO 5 SRFNRYITr
239,05°IQY AT BeBedahQ Tees WroBBT.
o0 Swonvod wRWOT TBURY

Difference & Equality

0r.1350 ©NGT, T3 BBOHTO Jedsd

8T Ie3:
a) Rs.4000 b) Rs.3000
c) Rs.6500 d) Rs.5000

2) Simple interest on a certain sum at a

16
certain annual rate of interest is E of the

sum. If the number representing rate per
cent and time in years be equal, then the
rate of interest is

ADFF, TodF8 WG BOTO ABFF FPIT
16
Ded3 IOV wBald @eI3 - BN,
SAEMVY Bedmo T DY) IAHTRY
B3PI Fox, 0o BRPSBINGY, e

wBad 39
1
a) 11 3 % b) 8%

1 1
Q) 12-% d)12-%
4 2

3) Prakash lends a part of Rs.20, 000 at 8%

4
simple interest and remaining at 5% simple

interest. His total income after a year was
Rs.800. Find the sum lent at 8%.

DB ©BD Te.20,000 T on3), 8%
JTY 281 D) VT g % TV BN Toow

H
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- 2
BT, 20 TRFW J0BT 9TT €, a) 6% b) 5%
30 800 TR. TB IRBI, 8% 1
=T Q)7=% d) 6%
Bob&HAMD. 2
c) Rs.10, 000 d) Rs.6, 000 N yea rs and X/Y Of Sum
1) Simple interest on a certain sum for 6
; : 9
4) The rate of interest per annum at which years is — of the sum. The rate of interest
the total simple interest of a certain capital ! 25
: i is
for 1 year is equal to the total simple
interest of the same capital at the rate of 6 SAFNYITH ‘aagad 323 DedS JoY
5% for 2 s | 9
per annum for 2 years, is 280 336 — sAS, 28 B3I
138, 2,00 ADF WOBDIYT e ITY y ) = 25 @
2B ede woBTVE wew, ISV @2 367 % Bl
1
IR/ENYION DoAES 5% ddde‘a c)8 2 % d) 8%
FDITND S ToAeS 08 TTY)
5 2) A and B borrowed Rs. 3000 and Rs. 3200
a) 10% b) > % respectively at the same rate of interest for
[o) (o) 1
c) 12.5% d) 25% 2—?:years. If B paid Rs. 40 more interest than
_ _ : A, find the rate of interest.
5) The simple interest on a sum of money is 1
4 . Q DD ) Tw. 3000 D) Te. 2 — 3, T3¢
5 of the principal and the number of years = ~ 2 ¥
is equal to the rate percent perannum. The 2“@. ddd@m i?)d)mﬁ 3200 JIJeMW. D
rate per annum is : D33ATT de. A AoB 40 Fed) 08, 28
4
B0 Bp3BTW ed VTY wEalw 5 esAT dddd& BoR)HLANO.
oo B SReNY Joaday Jodes BT a) 7% b) 5%
Fedms, JoRTNDIE. Tedes ©g 0 0% AB%
&eA3:
Hage |
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3) In what time will the simple interest be

2
E of the principal at 8 per cent per annum?

ed JDabhdY) IoY 2BA TS

Te3Wo 8 Jod exdew g sSADHIT?

a) 7 years
c) 6 years

b) 8 years
d) 5 years

4) At the rate of simple interest per annum,
the interest on a certain sum of money for

2
10 years will be = th part of the amount,

then the rate of simple interest is

D0AFB JTY ao&a dddQ, 10 IJeNLY IO
2

&’)&Fad 333 DedI ao&aoi).) 3R3T =

NN 3BT, So38T JTY zo&a Ale)

7
a)6§% b) 5%

1
C)4E% d) 7%

5) The simple interest on a sum after 4

1
years is E of the sum. The rate of interest

per annum is

4 IANY So3T 3BT eI ITY

28w 333 ; A3, Todrs w8 3T

a) 5% b) 4%
c) 8% d) 6%
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S| with Ratios

1) In a certain time, the ratio of a certain
principal and the simple interest obtained
fromitarein theratio 10: 3 at 10% interest
per annum. The number of years the
money was invested is

2ot ABFF IDHabBY, wodd ABEF
3w DD 93003 BT ITVY D
DTSR DoArd 10% 2Babd 10 : 3
ODTIBBODBT. BB BRBE FeBT

IRENY r'\Soa):S
a) 3 years b) 1 year
c) 7 years d) 5 years

2) A person lent Rs.5, 000 partly at the rate
of 4 per cent and partly at the rate of 5 per
cent per annum simple interest. The total
interest after 2 years is Rs.440. To find the
sum of money lent at each of the above
rates, Rs.5,000 is to be divided in the ratio :

o) dzséoi» 0».5,000 esng( N3 Te33 4
0 B3B8 D) 3B 5 TSTSTR), TS
I0¥ wBTCTO TouTI, BT, 2
3ReNY JoBT e, w8 440 Te. DedI
D)300e0) TONYY Tow BT BeT
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mgg;i& BodbBobhen, TR.5,000 @;{& 5) Rs.12, 000 is divided into two parts so
that the simple interest on the first part for
ORTIBTS LrNTIed: 4 g
o 3 years at 12% per annum may be equal to
g)3:2 b)4:5 the simple interest on the second part for
c)2:3 d)5:4 1 .
4 B years at 16% per annum. The ratio of
3) A sum of Rs. 4000 is lent out in two parts, the first part to the second part is
one at 8% simple interest and the other at Ge.12, 000 o= oTD PorinweN
10% simple interest. If the annual interest JonBBeINE, 8E808 ke end 3
is Rs. 352, the sum lent at 8% is e
2017-185¢ TROIO 2017-18F¢ ORI~ SAENY TOY 2B DadedN 12% 8,
1
Je. 4000 ®©F) OO Pnnwd STBRe oridd VUV @i 4 - SIerivadr
QeBUINHZBT, wold 8% JTY W D) DAEB 16% 8, So3TNDIT. Spdw
QR0 10% JTY WBM. Hodes w8 Te. on DD BB N T3
352, So0T 33 8% &8N a)l:2 b)2 ¢
a) Rs.2200 b) Rs.2900 BF=5 2 S e
c) Rs.3100 d) Rs.2400
4) A person borrows some money for 5
years and loan amount : total interest
amount is 5 : 2. The ratio of loan amount :
interest rate is equal to :
W), qséod).) 5 JIVENYION I, 38963.3(
Q0T TBANTIS DR ToOT I3 :
e, B BB 5 : 2. ToUT SPBT VDTS
: W8 TP 2B, ISyeITNDIST:
a)2:1 b)2:25
c)25:2 d)5:2
Hage |
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